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ECONOMICS

( Honours Core )

Paper : ECO-HC-3036

( Statistical Methods for Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O PPTRY e fry

(@) What is statistic?

AfSpfe & 9

(b) What is the first moment about the
mean?

T 2y Y45 2

(c) Define probability.
IR e
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(2) (3)

(d) When are the two events said to be ) “State 'the
mutually exclusive? probability.

IS b1 WO At e e o = 2 FEIeR @9 ©G9s! S 90 |

addition theorem of

What is random variable? . .
8 (c) Mention two properties of the uniform

i SRR distribution.

() Is binomial distribution a distribution of TG @l o ST 4 |

continuous random variable?

faom a5 SRoze TRE Ho1F AD A ? (d) What is covariance?

2eiRe 1 2

(g9 What is the shape of the normal curve?

FEIRP ([{IR PO (TPl ? (e) What is stratified random sampling?
(h) What is sample? TS AT Afera 92

Afonf 5 2

3. Answer any four of the following questions :
() What is correlation?

5x4=20
2T 52 e oPRd R e vifbe Teq i
() Mention one property of random (a) Prove the multiplication theorem of
sample. probability.
iR cifer bt of Trad 41 | SIS “F¢ TGl 2N 9 |
2. Answer the fouowmg questions : 2x5=10 (b) A random variable X assumes only three
S SERE See e - values -1, 0, 1 with equal probabilities.
Find E (X).
(a) Distinguish between population and <5 e e X @ Wi o1 ¥ -1, 0, 1
sample. o
o, RieDR FFEIfe 5 | E (X) S |
B o aforfy e onel fora |
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(4)

{c) Explain the concept of distribution
functions for jointly distributed random
variables.

A@Le@ IAFe IR TP ADH  FOR
IFENCHT 01 41 |

(d) Mean of a binomial distribution is 4 and
its standard deviation is +/3. Obtain the
values of n, p and q.

s 367 @O T 4 HF GG [(Gve /3.
n, p SIF g I N+ Sfea|

(e) Explain Bayes’ rule.
@S = [T 4w

( Explain the multistage random
sampling.

J2@T IS AfS6T = 4y |

4. Answer any four of the following questions :
10x4=40
O PTRE R @ wiktE Ses fi
(@) Derive the mean and variance of
binomial distribution. 5+5=10
2o 3957 Ty e 2praer Sferaan |
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(b) Define probability mass function (pmf).
Derive Poisson distribution as a limiting
case of binomial distribution.

e[ S Fo (pmfi)T W@ | B
3% e 961 Bt “Ric 35 ShRieqr |

(c) Discuss the properties of normal
distribution.

FOIP TG G A 41 |

(d) Find Karl Pearson’s correlation
coefficient from the following data and

interpret the result : 8+2=10

o OYF [ T PIERE ADTIR Q1
- Tferear e T AR F4I

1558 16" SRS S0 S o ()
Y N80 N TER 60 S 40F 80N 40

fe)} An unbiased die is thrown. Find the
probability that the number obtained is
either an even number or a multiple of
three or both.

PHS quel 961 wESA THA1 oy
RACBT BT W FRAM A 37 B A B
@RRF Tl Sfiear |
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(g)

24A/85

What are the principal steps in a sample

survey? Discuss.

siforef AR oigrE o o 2 S

2401

Mention the difference between mean

deviation

standard deviation.

Mention two properties of standard
deviation. Calculate mean and standard
deviation from the following data :

2+2+6=10

o1e oo S A [vee We| A1y SrEd
91 | T Roerma 751 o Seaw 41 | et fi
©UE 4 SfAfes o wiE W f[(vem [0

4

Age (1)

0-10
10-20
20-30
3040
40-50
50-60
60-70
70-80

Persons (A1)
15
15
23
22
25
10
)
10

( Continued )

(h) Define the foll
example each

L 7)

owing with the help of one

ATSIFCE GBI TIZITE e MAIEIRE AR

G

(i) Sample space

Afemf 7f2

(ii) Conditional probability
BT FGIfEl

{iii) Independent events

Fog oo

(i A bag contains 5 white and 4 black
balls. Two balls are drawn at random
one after the other without replacement.
Find the probability that both balls
drawn are black. 6+4=10

9o @SS 5 B

N AF 4 B FA I W |

o FFIPS TFT R e S 2 B

I S|l 20 |
fefy a1 1
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